uatre fractions, ordre des opérations avec
'ﬁ' s = E;_j S a P

parentheses
Nom: Date: Note:
3 2 1 31 2
Z+2)+6= —+Z(=—-3)=
60(2 3) 6 4 2(2 3)
2 1 1 2
24(= +=)+4 = 8- = - =
5+3) (808 3)x 3
3 11 1 3 1
3 35727 (36+7=35)* 3=
3 2 2 2 3 1
G-3"35%3 0 =70
1 3 2 3
+34+ )x = = Z+1)=5=
(6+3 3)><2 50(5 2) 5
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Tyrte

quatre fractions, ordre des opérations avec

parentheses

Nom: Date: Note:

) 65 2 1 31

—+ )+6=—=21- -+ —(=—)=
00(3+3)%6= 3 3 G370

2 1 ) 1 2 19 1
(5 Sy=4= 2l 52 80+ 8— —)x 2= =6

(3797475775 ( 2373 7%
3011 13 1 301 37 7
A G 56+ 7—2)x ~= 2L =9
5 3377973713 ( 593715
3 2 2 2 16 31 25 1
2 o SyxZ4z=2 60(2 — )+ 6= 2= 12-
373357373 G- )

2 3
502 +2)+5=19
z*3)
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